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All questions are compulsory.

Questions number 1 to 5 are very short answer questions and carry
1 mark each.

Questions number 6 to 10 are short answer questions and carry 2 marks

each.

Questions number 11 to 22 are also short answer questions and carry

3 marks each.

Question number 23 is a value based question and carries 4 marks.

Questions number 24 to 26 are long answer questions and carry 5 marks

each.

Use log tables, if necessary. Use of calculators is not allowed.

a5 HNO, g mwaﬁ@wmﬁma‘tmmﬁﬁ#w@m%,
39T I Toifgu |

Write the formula of the compound of phosphorus which is obtained when
conc. HNO, oxidises P,.

fr=foRaa Affres =1 o8 7. 91 v.di. 9w fafigu

H,C- C = C-CH, - OH
I )
CH3 BI'



Write the ITUPAC name of the following compound :

H,C- C = C-CH, - OH
‘ b

3. (a) WO S (E,), 3N
(b) s S s St (AG)

R I I IUTCATd 1 T I91E ISaT 8 7 1
What is the effect of adding a catalyst on
(a) Activation energy (E,), and

(b) Gibbs energy (AG) of a reaction ?

X
X
4. @ 3R ij T ¥ $=-91 Ueifeien gdT3E T 3SR 8 2 1

X

X
Out of @ and O[/ , which is an example of allylic halide 7

5. o9 g @ 31| o uitfared fopan S g, o fhd YR @1 Sidise §9d1 8 ? T
3T ST | 1

What type of colloid is formed when a liquid is dispersed in a solid ? Give"
an example.

6. () Befe AfE B % o wmed § agd g oA § caae
HIVY
p3hiaTd, p-TSeIbHd, HHEIA
(b) FrafaRaa sfifman St (garaer dR i w1 3T S gu) fwatary
faifEe

H3O+ . |
CH, = CH, > CH,- CH, +H,0 [+1=2

AAC]

56/1 3 . 1.3,



S[e-2-31Ta 1 Tafcifaa o @iy e @ s91 I 3Id@E H AN

feTRae 1+1=2
(@) CrO4
(b)  SOCI,

(a)  Arrange the following compounds in the increasing order of their
acid strength :

p-cresol, p-nitrophenol, phenol

(b) Write the mechanism (using curved arrow notation) of the
following reaction :

H,O" N
CH, = CH, - > CHg— CH,, + HyO
OR
Write tue structures of the products when Butan-2-ol reacts with the
following :
(a) Cr03
(b)  SOCI,

7.  Ugfufiam & 81 g # fhadt T Fifgwd Bl Al g8 weis-higa oG
(v €5t ) atem ¥ fhtecfihd Bia1 2 ? (Al ST YT g9 =27 gmol ™) 2

Calculate the number of unit cells in 8:1 g of aluminium if it crystallizes

in a face-centred cubic (f.c.c.) structure. (Atomic mass of' Al = 27 g mol 1)
8. fr=feRaa < =T 3TRRga ﬁf\—\rm : 2
(a)  HySO4
(b)  HCIOq
Draw the structures of the following :
(a)  HyS04
(b)  HCIO4

56/1 4



9. 39 O & W forlae o ar=m: g9 = (F8R) 4 W6 TR S R | 3w

10.

11.

12.

o6/1

O & WIS 9T hdIE W 81 ared] AMNEHIT i fafae | 2

Write the name of the cell which is generally used in hearing aids. Write
the reactions taking place at the anode and the cathode of this cell.

8. 1. 0H. Al 1 W& =X g efofed % foe g fafa 1+1=2
(a) HifsTH SEEAMSIANAD) ‘
(b) SEENS N-RfFmIV) gethe

Using JUPAC norms write the formulae for the following :

(a)  Sodium dicyanidoaurate(I)

(b)  Tetraamminechloridonitrito-N-platinum(IV) sulphate

(a)  3MAUAIUh &l hl Yhfd & AR W F=faRga 3@ & Fffed
HIT :

ot Fraigs, A1
() T FH W ZnO YieT g1 F1d1 B | =N ?
(© =i 12-16 ATt & @1 1fum B 2 T Sergw A | 3
(a)  Based on the nature of intermolecular forces, claésify the tollowing
solids :

Silicon carbide, Argon
(b) Zn0O turns yeilow on heating. Why ?

(e) What 1s meant by groups 12-16 compounds ? Give an example.

(a) U qa o Fafafiga sfufsn i 2

2 Fe’* (aq) + 21 (aq) —> 2 Fe?* (aq) + 1, (s)

%1 298 K A4 W E@m =0-236 V 2 | "a 1fafspan &t ams fied o
Yiehierd shifIT | (fen T 2 : 1 F = 96,500 C mol 1)

(b)  af ws enferes a7 A 0-5 VPR 6 U 2 69 % o varfzd B 2, q
AR H A fohad s yanfga e 2 (fmm v @ : 1 F=96,500 C mol™}) 3

5 P.T.O.
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(a) The cell in which the following reaction occurs :
2 Fe3* (aq) + 21 (aq) ——> 2 Fe?* (aq) + L, (s)
has E_ = 0236 V at 298 K. Calculate the standard Gibbs energy
of the cell reaction. (Given : 1 F = 96,500 C mol ™)
(b) How many electrons flow through a metallic wire if a current of
0-5 A is passed for 2 hours ? (Given : 1 F = 96,500 C mol 1)
(a) * " [Co(NH,). (SCN)|%* fopH e i TTerean fe@rd & 2
(b)  [NiCl,|% g § Siafeh [Ni(CN),)?~ Sfdgeehi & | 1 ?
(Ni &l T HHTh = 28)
(¢) T Tawu Sahash G%d #i [ & <@ 31 g ? 1x3=3
(a) What type of isomerism is shown by the complex
[Co(NHa)s (SCN)J** ?
(b) Why is [N1Cl,] 2~ paramagnetic while [Ni(CN),] 2~ is diamagnetic ?
(Atomic number of N1 = 28)
(¢)  Why are low spin tetrahedral complexes rarely observed ?
fafafiad 1 8 78S & S Ush-Ush AdT g : 1x3=3
(a) wgenfugs Hictise T gE=l SIS
(b) e FHI YA (TTEs)
(¢)  EHPf 3T SR fawmT Iesor
HAJT
(a) gu i aitfered sraEen S giEiar Arerd foIRa |
b) it arfireeer ik gEmaties st & s ve gEEdal fafae |
(¢ FeCl, # Fe(OH), 8ic % ST archt wamaf fafa o am fafge | 1x3=3



Write one difference in each of the following :
(a) Multimolecular colloid and Associated colloid
(b) Coagulation and Peptization

(c) Homogeneous catalysis and Heterogeneous catalysis

OR

(a)  Write the dispersed phase and dispersion medium of milk.

(b)  Write one similarity between physisorption and chemisorption.

(¢)  Write the chemical method by which Fe(OH)4 sol is prepared from

15. 25% fageH & v v gem wife ht aafufsear 20 fime o<t 2 1 s
75% Q0 LA ° A TR AN, IGehl AT HiIT | 3

(feam =& 2 : log 2 = 0:3010, log 3 = 0-4771, log 4 = 0-6021)

A first order reaction takes 20 minutes for 25% decomposition. Calculate
the time when 75% of the reaction will be completed.

(Given : log 2 = 0-3010, log 3 =0-4771, log4 = 0-6021)

16. 3! f=ferfiaa Afie fau e @
2 Y=, 2-FH-2-HIUAIH, 1-SH YA
(a) SNzwﬁmﬁm@ﬁ%ﬁmem%@|

(b)  gavl ok ATk HT I [ARGT |
() p-Taeaas sifufsren 4 ge@ sriys stifsrasiia Rifies o1 9m fafge | 1x3=3

The following compounds are given to you :
2-Bromopentane, 2-Bromo-2-methylbutane, 1-Bromopentane

(a)  Write the compound which 1s most reactive towards SNZ reaction.

(b)  Write the compound which is optically active.

(¢)  Write the compound which 1s most reactive towards f-elimination
reaction.

56/1 7 P.T.O.



17.

18.

19.
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frfafed = faga e - 1x3=3

(a) Hed YTseh{v]
(b) WA THeH Y
(c)  dUicifaeh

Write the principle of the following :
(a)  Zone refining

(b)  Froth floatation process

(¢)  Chromatography

fAferfiga sifufsrameti & A, B 92 C Jifiei it g foiigu 1-§x2=3
NH;/A Br,/ KOH (aq) CHCI; + ale. KOH
(a) CH,-COOH ——— A ——> B —> C

~ NaNO, / Cu Fe/HCI CH.COC1/ &=
) CHNBF, —2—> A ——>» B —2>— >

A

Write the structures of compounds A, B and C in the following reactions :

NH, /A Br,/ KOH (aq) CHCl, + ale. KOH
(a CH;-COOH ——— A ———— > B — — C

_ NaNO,/Cu Fe/HCl . CH,COCI/ pyridine
B GEIBR, —a— & — 0], p T TPVHAE

forfofaa sgaehl o1 I T % foTu T Tl <l @t=AT forfa - 1x3=3
(a)  IZAM-6,6

(b) HAHEA-BH{CSEIZE TgAh

(c)  I-S

Write the structures of the moncmers used for getting the following
polymers :

(a) Nylon-6,6

(b)  Melamine-formaldehyde polymer

(c) Buna-S
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21.

22.
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f=ferfiga =1 aftarisg Ao . Ind=3
(a) SRUTIEHT YIS
(b) Wfa ween afmifos

(c) {ﬁﬁ%ﬂ

Define the following :
(a) Anionic detergents
(b)  Limited spectrum antibiotics

(¢)  Antiseptics

feafafied & o sarET ' 1x3=3
(a) O BIHRE, 90 FIOHRE 6l qorl 8 & Affshaniic g 2 |

(b)  BrSHl Hl Soa wfey Tt rferhan romeRs Bidl @ |

()  NyO5, NyO, Y ameqn feres 3=fa 2 | '

Give reasons for the following :

(a) Red phosphorus is less reactive than white phosphorus.

(b)  Electron gain enthalpies of halogens are largely negative.

(C) N205 jS more aCidiC than N203

ﬁm%rﬁa?r‘é%mm: Ix3=3
(a) Qe o1 UEifeehietor sae gfshan T9e +0 Ll 2 |
() CHZNH,, C,H.NH, i gart # 3ifurs &g i ¢ |

(c) WﬁjNHQFT‘E’ 0/pﬁ€ﬂ$ﬁm%,ﬁ?“ﬁﬁﬁ?ﬂ?w§mm
AT H m-Tsgfaela <t 2 |

Give reasons for the following :

(a) Acetylation of aniline reduces its activation eftect.

(b)  CH5NH, 18 more basic than C.H-NH,.

(c)  Although -NH, is ofp directing group, yet aniline on nitration

gives a significant amount of m-nitroaniline.

9 .10,
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A o uh W F S A1 g IR Iarel 7 uilEw siHe AR qieRem
AREE F8 HUEH (hOTil) WAl & ufedfd ¢@d & §1q, §Il, JIHgdl

e hl VAT, 7 GEU ] WE-IS § 39 H-ated ¥ BH a1 gIieR J9iEdl %

aR § I A R v TR | 98 wd vemeEE 8 fieft st 3 ImwE
ferar foF 9 <A IR I aTew < T g faenfoln =1 dwefaw, fUsan, a7
AR T AR IAE T oY | TUFER A Tehled HeH 33Td Y HEH hqR
IHT IR H IR FO WA W@ [GiE 8 M g 99 wd, g9,
Sl ged WA w1 ARy fe | 35 fofw @ |l wiar-fuan qen feenf A
&g feRa | '

39 qi=se Sl de @ a1g, FH=feiRad el o I i -
(a) ®YE gl o geal (FH-U-%0 ) I SuiT TR ?
(b) SAHAR & 3 ¥ FHEBESEH 1 HH-A1 YiTTahiEs U2 IUMEAd BIdT 2 ?

(@ S 6 frdre g o wen Rt |

Q) o Taog faerfaat <& a1 Sergon diu |

After watching a programme on TV about the presence of carcinogens
(cancer causing agents) Potassium bromate and Potassium ilodate 1n
bread and other bakery products, Rupali a Class XII student decided to
make others aware about the adverse effects of these carcinogens 1n
foods. She consulted the school principal and requested him to instruct
the canteen contractor to stop selling sandwiches, pizzas, burgers and
other bakery products to the students. The principal took an immediate
action and instructed the canteen contractor to replace the bakery
products with some protein and vitamin rich food like fruits, salads,
sprouts, etc. The decision was welcomed by the parents and the students.

After reading the above passage, answer the following questions :
(a) What are the values (at least two) displayed by Rupali ?

(b) Which polysaccharide component of carbohydrates is commonly
present in bread ?

(¢)  Write the two types of secondary structures of proteins.

(d) Give two examples of water soluble vitamins.

10



24. (a) Trfciiga % o N ;

) Wu@qﬁaﬁaaﬁsﬂwmmwﬁﬁél

i) Zn, Cd 3 Hg 7 (9g) arqd & |

Gi) Mn®*/Mn?* T & fau E° %1 wW CrMCr%t H e W SEd

3 gTed s (+ 1-57 V) 2idl @ |
(b) ﬁ@qﬁgaﬂlﬁﬁzﬁa@aﬁi%w%dﬁwmaﬂt@m
feTau | 3+2=5
T

(a) fefafiad 3d Svft & dshAvT g1den o A &
Ti4+, \[2+!| Mn3+, Cr3+

(quim] AT : Ti = 22, V= 23, Mn = 25, Cr = 24)
fr=falea & 3@ dNT

() BT AR T foaaa § gad aifess warft 8 e w41 2
Gi) HH-ET 3 Yo SNFHTHIH 3 A H:T 2
(iii) HH-GT 3 TEHE & N =1 2

b) Fr=fafas arfien s g i

i) 2MnO;+16H++582" -

i) KMnO, —>— > 3+2=5

(a)  Account for the following :

(i) Transition metals show variable oxidation states.

i1) Zn, Cd and Hg are soft metals.

(ii1) E° value for the Mn3*/Mn?* couple is highly
positive (+ 1-57 V) as compared to Crét/Cr?t.

56/1 11 - P.T.0O.
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(b)

(a)

(b)

(a)

(b)

Write one similarity and one difference between the chemistry of
lanthanoid and actinoid elements.

OR

Following are the transition metal ions of 3d series :
Ti4+ V2+ MD3+ Cr3+

(Atomic numbers : Ti =22, V = 23, Mn = 25, Cr = 24)

Answer the following :

(1)  Which ion is most stable in an aqueous SOIﬁtion and why ?
(i) Which ion is a strong oxidising agent and why ?

(11) Which ion is eolourless and why ?

Complete the following equations :

i) 2 MnOj; +16H" +5 q2- N

i) KMnO, — 22,

ThE & 10% (299 H) e foaeraq 1 7916 269-15 K ? | 3fg 3g
I o1 Temm 27315 K &, @ bl $ 10% Joiid faeaa & fgaie 6

TMUET hiTolg |
foar w2

' (gspiE FT A GHM = 342 g mol ™)
(THIE P HIG GeIAE = 180 g mol 1)

frafeafag get =1 aftariaa il
(1) Al (m)
(i) TG AR ZogqH 92195
HAAT
12
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(8) 30 g qIEAT (M =60 g mol™)) HI 846 g 7 &§ AT Tl ® | AR 298 K
R Y I H1 919 € 23-8 mm Hyg 3, a‘rsﬂﬁw%%qaa%
91T 319 <hl Yiehed hHifvT |

(b) A TR 3 IFATEY faeram & g & 37w ferfaw | 3+2=5

(@) A 10% solution (by mass) of sucrose in water has a freezing point of
269-15 K. Calculate the freezing point of 10% glucose in water if
the freezing point of pure water is 273-15 K.

Given :
(Molar mass of sucrose = 342 g mel™)

(Molar mass of glucose = 180 o mol 1)

(b)  Define the following terms :
(1)  Molality (m)

(11) Abnormal molar mass

OR

(@) 30 g of urea (M =60 g mol™!) is dissolved in 846 g of water.
Calculate the vapour pressure of water for this solution if vapour
pressure of pure water at 298 K is 23-8 mm Hg.

(b) Write two differences between ideal solutions and non-ideal
solutions.

(a) THfIRaa sifufsranasii & serel #1 forfau -

E 0,
(1) Oﬁ + HCN — 2
COONa
(11) Q/ + NaOH CZQ__, ?

(i) CH,~CH=CH-CN @DIBAL-H ,
(b) H,0O

13 P.T.O.



(b) Tfafaa e et 4 fadg w6 & foe aa vaEfts wdeo fia

() oA o SeA-2-31
(i) w=AgH 3 AR HiHIA 3+2=5

YT
(a) fAfafad o 28R arefl stfvrfsranat 6t fafao -
() $2rS AUfHAT
(i) FHA AT
b) T=fafaa w1 e Afteran g = | foha TR SUaid H
(1) w=5Igeh A U S~ cSaIEs

(iii) TIHTE 37 U 2-BTEgidd U ST 2+3=5

(a)  Write the product(s) in the following reactions :

O
(i) U + HCN —> ?
COONa
(i) U + NaOH czo_} ?

(a) DIBAL-H }
(b) H,O

?

({ii) CHz-CH=CH-CN

(b)  Give simple chemical tests to distinguish between the following
pairs of compounds :

(1) Butanal and Butan-2-one

(11) Benzoic acid and Phenol

OR

56/1 14



(a) Write the reactions involved in the following :
(1) Etard reaction

(1) Stephen reduction

(b) How will you convert the following in not more than two steps :
(1) Benzoic acid to Benzaldehyde '
(i1) Acetophenone to Benzoic acid

(111) Ethanoic acid to 2-Hydroxyéthanoic acid

56/1 | 15



	Chemistry 56.1-1
	Chemistry 56.1-2
	Chemistry 56.1-3
	Chemistry 56.1-4
	Chemistry 56.1-5
	Chemistry 56.1-6
	Chemistry 56.1-7
	Chemistry 56.1-8
	Chemistry 56.1-9
	Chemistry 56.1-10
	Chemistry 56.1-11
	Chemistry 56.1-12
	Chemistry 56.1-13
	Chemistry 56.1-14
	Chemistry 56.1-15

